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A [ajgaj ﬁ @, Addisjon opptil 100 (horisontalt)

StudentName: __ ExamDate: _  ExamScore:
T+21 = 70+ 7 =
83 +59 = 16+37 =
65+7 = 83 +25 =
16 + 86 = 10+5=
71+21 = 94 + 75 =
57+52= 29 + 80 =
54+ 36 = 2+18=
73+ 30 = 7469 =
1437 = 33+ 100 =
5+33= 83 +43 =
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StudentName: ExamDate: ___ ExamScore: ___
7+21 =28 70+7=77
83 +59 = 142 16 +37 = 53
65+7="72 83 +25 =108
16 + 86 = 102 10+5=15
71421 =92 94 +75 =169
57+52=109 29 +80 = 109
54+36 =90 2+18 =20
73 +30 = 103 7+69 =76
1+37 =38 33+ 100 = 133
5+33 =38 83 +43 = 126
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